Conversion de Fractions (C)

Nom: Date:

Convertissez chaque fraction mixte en fraction impropre.

75 =— 75 =— 23 = — 1L
23 =~ 12 =— 51— 71
51 = — 45 = — 43 = — 74
2t = — 65 = — 1L = — 38
243 = — 17 =- 75 =— 78
15 = — 15 = — 93 — 51
7TH=— 72 = — 7E = — 6%
55 =— 33 = — 3¢ = — 72
45 — — 73 = — 33 = — 95
8L = — 31 = — 67 = — 42
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Conversion de Fractions (C) Réponses

Nom: Date:

Convertissez chaque fraction mixte en fraction impropre.

73=% T4 =15 215 = 1o 145 =1
27=3 15=% 55 =% 75=5
515 = 15 45 =5 4G =4 76=4
26="% 615 = %o 172 =2 38 — 35
213 = 5 17 =7 75 =Y 78 — 13
s =15 13=5 9% =% 53=%
715 = 1% 73 =% 73 =4 6% = 1
=5 355 3¢=% 7% =%
45 =9 73 =% 33=2 95 — 59
816 = 10 35 =% 67 = ¢t 4% = 6
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